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Quick Warm, Up: Couniirxg/ Forvwards and, Backwards inv 6s,
s and, /s

o Starting at O, write the: multiples of 6.
Ommnmhne,wrdeﬂwemulhple&o}l
Thmon;anoﬂ\ennmhn@wrd@ﬂ\@mulhplwo}q
S’w-p/whmgoulg,ei}’(omwgounnumben

counting

backwards.
Start ab /2 to count back inv 6s.
Start ab |08 to count back inv Ys.

Start ab 84 to- count back inv /s.

memmmmw&wmﬁmw(ﬁmm?



Quick Warm, Up: Counhng/ Forvwards and, Backwards inv 6s,
s and, /s

NOV\/*', I’T\.OI‘IQ/ W ansvwwenrs;

O 6 12 I8 24 30 36 42 48 54 60 66 /2
O 9 I8 27 36 45 54 63 /2 8l 90 499 108
O 7 |4 21 28 35 42 49 56 63 /O /7 84

72 66 60 5S4 48 42 36 30 24 18 |12 6 O
108 499 90 8l /2 63 54 45 36 27 18 9 O
84 /7 7O 63 56 49 42 35 28 21 14 7 O

Howeo:sg/wa&’dm&? thwnunxbﬂ\(s)dogownmwpxﬂfhsewwxhng/uﬁ



Vocahulany

groups o} lotsof | timestable
total, oltogﬂthej\ numbenr sentence




Leax\rung/th@ /x 1 able

The 7></tablf/'tszon,e/o;flﬂm/ hardest times tables to- learru

0x7-7%10-_10

b7 =7 b -_28




Leapnmg/th@ /x 1 able

So,gmdmdghnw(wmwonhoubm@d%mtw)ﬂwmb
o&o{lthm(ﬁad@mﬂw&7wtabl@. Yowdam’thametocounbup'w7s.

2w/l -counbuv?l2s Sx/ -counbinnds 10 x / - count inv |10s
3%/ -counbinn3s L x/-counbinvbs 8 x /- countin 8s
6x / -counbinnbs Y% / - counb v Ys

Foneadeﬁom,gowwoukd/nﬁed/tocounbup7hmw



Leapnmg/th@ /x 1 able

Thi&mﬁan&thabgwonbg/need/bcounbupw7&b}mdthmanswen&:
77 -_ 49
Nw7-_ 1/

12 07 - Ok

For |l % 7/, startb ab 1O % /7 = 70 ond:(ju:stadd;on;7.
For 12 % 7/, start ab |O % / = /0 and add, on two /s this time.



Leax\nmg/th@ /x 1 able

/% I e one o} as special of rumbers in the times tables where a
WWWMW@W

Oﬂ'\ﬂ‘@(ﬂff@%ﬂf‘@!
3x3-_ 9

b b - 16

OI\,CLSO*OF\J.



Leapnmg/th@ /x 1 able

> H_.m'. > H_.mﬂ_. >
> H_.m'. > H_.mﬂ_. >
> > > 5 > 3 >
> > 3> 5> > > >
H_.m'. > H_.MH_. > >
> > > > > > >
> > H_.MH_. > > @
® 000
® 00 0
® 0 0 0
©® 000

IIIIIIII

|||||||

b b - 1O 7 %7 -

9

3% 3 -

The»sespmdnumbﬂ“&amcalledz scww\e/numb,e,{\&



o, 7 _ 42
7 " 6 - 42
42 . 6 _ 7
42 - 7 - 6

/14 21 28 35 42

Check that the BIG nwnbml&lm’dwe/comeotplnw(ﬁo{\eaﬁvnumbﬂ\
senfence.



Related, Facts

How does 3 %, / hdptowonhoubth&(ﬁoﬂpvwmg/q,u@shon&’?

350,70-2100  3x7x%10 =2 %0

| I



Cmgowwonhoubﬂrw(ﬁolbwﬁwgmm?

L0 %7 - 280
5% 70 - 350
6 % 700 = 4200



Fluenciy |
|. For- eachs array, write & number sentences from the same fac family.

a)

b) *

* % % o % ¥
* % % % % ¥
* % % % % ¥
* % % * % ¥
* % % % % %
* % % o % ¥
* % % % o+ #
* % % % % * * *
* % % % % % * #
* % % % % * * *
* % % % % % * #
* % % % % % * #

* * * * * * *
» * * ¥ ¥ ¥ * »



from,the same.ach Jomily

@) 3%7- so - Pl - 50 -
b) 7% 7 - so - g) 8 %7 - so i
)12 %7 - so - h) & %7 - s0 -
d) 17 - so - Y97 - so -
)57 - so - J6xT - so -

3. Whmhnuaama;munhe:&hau&b&emmuemd;bﬂ,thaap]ﬂl&?
a) 35+ 7 - d) B4 = 7 -
b) 7 % - 63 e) w | = 49

o) -7-6 ) =7-4
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Reasoning |
Matchs eachs calculation to the correct answer TWM%MWW zeros eachs answenr
will, hawe.

80 = 7 l l 4200
60 =70 e ] 560
30 x 7 L] * 4900
7x200 ¢ ! 5600
800 =7 ¢ ] 210
0= 10 ¢ ® 1400
TO =70 ¢ L] 700

meaﬂt@mgﬂwhﬂwmﬁm mmehﬂwwhrmwthﬂbwmmm



Reasoning 2

7 =50 50 = 7

8 » 70O 80 = 7O

7 =10

40 = 70

700 = 1

400 = 7

mmﬂmwmmm&m&%nmmwbmmmﬂlbﬂwmwm

correch

Is F.nrw.r'sfu:lmbmwjalm?



Problems Solwing |

mmxhenuuﬂm&topmd-mctmgl&Cmpwwmhm:bﬂ@wmngmnhﬂﬁ?

490

770

70

8400

2.

280

2100

30

5600




Prohlem Solwing 2
Scrme;chddmwaﬂwmw&c@?. There, were, 5 girls ands 2 hoys in eachs roww.

Us&whme&h:bls&lmmuledg&t&whmlt

a) How many girls would there, be iy 10 rows?
b) How- many boys would there, be in 100 rows?



OU’\H\WOAA&{'O Practise: Your /x | able

Practise your I table and /7 table disision on ‘Hib the Button,
hﬁpﬁxz//wwwiopxnank&.w.uk/nmth@-gmes/ hit-the-button

Answer some guestions orv Doibé/ 10
hbfp)s/:/ / \vawtomwk@couk/ maths- 9,01‘0.@5/ d.aith 0

Look,(flono/%otabl@videoor\song/omth@mmnfh

Counboubloudw7swmtomojlw(ﬁmmsong&
Mak&w%otabl&FwtuneTellen-thmw\emshudion&mdj@tﬂmplatem
the next; 2 slides.


https://www.topmarks.co.uk/maths-games/hit-the-button
https://www.topmarks.co.uk/maths-games/daily10

7 Times Table Fortune Teller

Instructions

_ 493

With pictures face down, fold Once again, fold all corners to
on both diagenal lines. Unfeld. the centre.

@ ®

Fold all four corners to Fold paper in half and unfold.
the centre. @
o
Turn paper over. Fold in half from top to Slide thumbs and forefingers under the sguares and move the fortune

bottom. Do not unjold. teller back and forth to play.
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Fluency |

6 %7 - 42 8 %7 - 56
7 %6 - 42 7 %8 -56
42 =6-7 56 =8 -7
42=7-6 56 =7 - 8

Jrom the, e,k family

a)3x7-2ls02l=7-3 PDUwT-TTs077=T7-1
b) 7 %7 -49s049=7-7 g) 8 %7 -565056=7-8
) 1257 -84 so8h =7 -2 h)bwT7-28s028=7-4
)lwT-Tso7=7-1 )A%7-63s063=7-9

e)5%7-35s035=7-5 Howl-42s042=7-6

AI'\JSNV‘GPSI




3. Whmhmng;wnhm&hm&he&nm%bgﬂx&&plﬂl&?
a)35+7-5 d) 84 =7 -12
h) 7 %9 - 63 e [l -49

) h2= 7 -6 D28=T7-4
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80 x 7 >< 4200
60 = 70 560
30 = 7 4900
7 = 200 5600
800 x 7 210
70 = 10 1400
70 = 70 700

Exﬂrnpl.e,ﬂ.rwmr-:
For- 80 m?,&&mlﬂtgdfﬂchIknnwL&B w J - D6,

ﬂxem:Ls-ﬂ;'z.em&ruﬂwendjo'bﬂﬂ mt&g&bﬂx&ﬁn&m,lnﬂedrtnmdhplw
Sﬁbg;lﬂ.

Mwmmﬁm 560.



Reasoning 2

7 %50 =507 7 %10 < 700 x|

8 % /OO = 80 % /70 fl—ﬂm?ﬂ=f|-ﬂﬂm?

Annar's ideas is Jalse. She can use the same equals symbol, = i three: of the boxes, but the
number sentence: inv the top right needs o less than < symbeol, instead, of an equal, sign = to- be
correch



Problem. Sn-lumi:!-l

490
710
770
70
8400
100

280

b 70
2100

70 30
5600

70 80

For question 6, there: are two other
po&ﬂbbafxnp&cglmundyysx

/ and, 800

/00 and 8



Problem Solwing 2

a Imlﬂmﬁmwﬂdh&ﬁmlﬂgﬂ.&:EDgﬂ&
b) In 100 rows, there would be 2 % 100 boys = 200 boys.




